Multiply decimals by negative powers of ten

3443.6 x 0.001 =

7409.9 x 0.0001 =

9645.5 x 0.001 =

7917.9 x0.001 =

6951.3 x 0.0001 =

4692.4 x 0.0001 =

1627.1 x0.01 =

9164.7 x 0.01 =

8524.4 x 0.0001 =

4008 % 0.0001 =

Date: Score:

2646.9 x 0.0001 =

7338.4 x0.01 =

6166.9 x 0.0001 =

3124.5 x 0.0001 =

3966.9 x 0.001 =

6570.8 x 0.01 =

9320 x0.01 =

7828 x 0.01 =

7840.2 x 0.0001 =

4179.9 x0.001 =
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Multiply decimals by negative powers of ten

3443.6 x 0.001 = 3.4436

7409.9 x 0.0001 = 0.74099

9645.5 x 0.001 = 9.6455

7917.9 x0.001 = 79179

6951.3 x0.0001 = 0.69513

4692.4 x 0.0001 = 0.46924

1627.1 x0.01 = 16.271

9164.7 < 0.01 = 91.647

8524.4 < 0.0001 = 0.85244

4008 % 0.0001 = 0.4008

Date: Score:

2646.9 x 0.0001 = 0.26469

7338.4 x0.01 = 73.384

6166.9 x 0.0001 = 0.61669

3124.5 x0.0001 = 0.31245

3966.9 x 0.001 = 3.9669

6570.8 x 0.01 = 65.708

9320 x 0.01 =93.2

7828 x 0.01 = 78.28

7840.2 x 0.0001 = 0.78402

4179.9 x0.001 = 4.1799
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